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MATH 237 Sochacki Exam 2 Name KEY WEST
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All necessary work must be shown for credit, Part of your score is the work you show. Work must be NEAT.
You may NOT use computers, notes or texts.
I have neither received nor given help on this exam. %’ﬂ’ %‘//"

(Signature) (2 points) ~

1. Let w(f)={rsint,tcost) be the velocity of a moving object with 7(0) = 0. Give the following. (18 points)
(a) The speed of the object.
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(b) The path traced out by the object.
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(c) The curvature of the path traced out by the object at t =—
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3. Let z= f(x,¥)=+/2y—x* . Give the following. (9 points)
(2) A sketch of the domain of f.
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4. Let z= f(x,y)=xy+ Y. Give the following. (9 points)
(a) The simplified form of Az = f(2+Ax,3+Ay)~ £(2,3).
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(b) The tangent plane to the graph of f at the pomt (2 3).
28 (2,3)=3, %—5(2,3%3 (3z—|>°<x ZN-3, 215>
= 5>( b+eN-24-2+I15 =9
In+ey-z2= |5

5

P=(2 3){(2)35) = (2,3,19)
n = 4-&{(27 2}, -C\I-(z, 3))-717 = <3871

(c) The directional derivative of f at the point (2,3) in the direction <2,-1>.
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2. Let ;(t) =5cos2t i —3sin2t } + 4sin2¢t k. Give the following. (18 points)
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(b) The tangential and normal componénts o eration vector.
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5.Let w=f(x,y,2z)= ]11(9— xt -y - zz) . Give the following. (18 points)
(a) A description of the domain, range and level surfaces of £ .
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(b) D-f(1,1,1) for u the direction of maximum increase in [ at the point (1,1,1).
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(c). Give the equation of a tangent plane for the level surface w = In(5) .
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